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QUESTION 1

What are groups of cells that perform the same function called? 

A. molecules 

B. organs 

C. plastids 

D. tissues 

Correct Answer: D 

Groups of cells that perform the same function are called tissues. 

 

QUESTION 2

What is the role of ribosomes? 

A. waste removal 

B. storage 

C. transport 

D. make proteins 

Correct Answer: D 

A ribosome is a structure of eukaryotic cells that makes proteins. 

 

QUESTION 3

Which of these is not a part of the central nervous system? 

A. spinal cord 

B. tract (bundle of nerve fibers/axons) 

C. brain 

D. cranial nerves 

Correct Answer: D 

 

QUESTION 4
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What is the possibility that the offspring produced will have brown eyes? B = alleles for brown eyes; g = alleles for green
eyes 

A. 100% 

B. 75% 

C. 50% 

D. 25% 

Correct Answer: B 

Dominant genes are always expressed when both alleles are dominant (BB) or when one is dominant and 

one is recessive (Bg). 

In this case, 3/4 or 75% will have brown eyes. 

 

QUESTION 5

Balance the following chemical equation by filling in the coefficients that should go in the blanks: 

____Na +____H2O ____NaOH + H2 

A. 2Na + 2H2O 4NaOH + H2 

B. 2Na + H2O 3NaOH + H2 

C. 3Na + 3H2O 3NaOH + H2 

D. 2Na + 2H2O 2NaOH + H2 

Correct Answer: D 
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